
No. Name of Parts Specifications Unit Qty Remark

1 G21209 lamp shade
light diffuser PC（CM4272-
DHX)  Tonngyuan  120H UV 
test passed

PC 1

2 M3*6 Eleven-slotted pan head self-extruding screws
hardness 450HV0.3，zinc 
surface-plating

PC 4 fix reflective screen

3 G21209 reflective screen ABS757(Titanium dioxide） PC 1

4 G21209 clear diffuser PC S-2000UR(clear） PC 1

5 G21209 lamp body ADC12 PC 1 spray coating

6 G21209 radiator seal ring silicone 50°black PC 1

7 M3*5 eleven-slotted pan head self-extruding screws hardness 450HV0.3，zinc 
surface-plating PC 4

2pcs fix LED 
module,2pcs fix driver

8 G21209-DB PCB 4000K PC 1

9 G21209 radiator ADC12 PC 1 spray coating

10 M3*8 cross recessed countersunk head screws stainless steel 304 PC 4

11

G21209-FGL-QD drive input brown blue wire L=90MM 
stripped wire 9mM and tin immersed output red 
black wire L=70MM stripped wire 9mM and tin 
immersed sleeve 2.5 * 30MM heat shrink tube

PC 1

12 G21209 mounting plate seal ring silicone 50°black PC 1

13 G21209 mounting plate PA6+30%GF(black） PC 1

14 17LG2 16476 G06444 protective coil(black） silicone 50°black PC 1

15 M4*8 eleven slot pan head self extrusion screw
hardness 450HV0.3，surface 
dacromet

PC 1

16 Ø4  external serrated lock washers zinc surface-plating PC 2

17
Yellow-green grounding wire (Φ4) L=100MM (with 
letters) stripped 9MM and dipped in tin

H05V-K 0.75mm2 PC 1

18 PA10-10-3 bilateral pressing terminal PC 1

19 M5*10 hexagon socket set screws with cone point stainless steel 304  black PC 1

ST4.2*30 cross recessed flat head self-tapping screws stainless steel 304 PC 2 as accessory

φ6*30 plastic expansion φ6，HDPE PC 2 as accessory

2.5MM allen wrench blackened PC 1 as accessory


